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Circle the number which is closer to 1000

\

996 1006

Explain how you know.
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Write these numbers in order of size, starting with the smallest.

901 1091 910 109 190

Help Code : 018

One battery weighs the same as 60 paperclips.

One pencil sharpener weighs the same as 20 paperclips.

How many pencil sharpeners weigh the same as one battery?

\

How many paperclips weigh the same as 2 batteries and
4 pencil sharpeners together?

\

Show
your working.
You may get
a mark.

smallest

b,
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Circle the number nearest to 1000

1060 1049 1100 960 899

2002A KS2 Q24

Which is larger, % or %?

Explain how you know.


https://www.youtube.com/watch?v=C4oA7HmL304&index=1&list=PLS3PH82bo0VACc6WGPYZNEN468cuoU-Mp
https://www.youtube.com/watch?v=8kvT0mqCAlc&index=21&list=PLS3PH82bo0VCqE0GWRWRiDdD4jM58yTbl
https://www.youtube.com/watch?v=DGrHKGK6fB8&list=PLS3PH82bo0VDFLB1GO9MFyP7qMuzBVyJt&index=23
https://www.youtube.com/watch?v=13ZDwgfFhDk&index=23&list=PLS3PH82bo0VAUYt9DB2Fmlhd1JQWarrbi
https://www.youtube.com/watch?v=13ZDwgfFhDk&index=23&list=PLS3PH82bo0VAUYt9DB2Fmlhd1JQWarrbi

